pyMaxima-Sitzung (7. Februar 2009)

(%il) 231
(%01) 25852016738884976640000
(%i2) diff(a"4+3%a"3—(1/a),a);
3 2 1
(%02) 4 a +9a + —
2
a
(%i3) diff(exp(x"2),x);
2
X
(%03) 2 x %e
(%i4) diff(sin(x) * cos(x),x);
2 2
(%04) cos (x) — sin (x)
(%i5) diff(x * sin(x),x);
(%05) sin(x) + x cos(x)
(%i6) integrate( x"5,x);
6
X
(%06) —
6
(%i7) integrate ((x+3%x"2)"4,x);
8 7 5
9 27 x 94 x 6 X
(%07) 9 x + + +2x + —
2 7 5
(%i8) taylor (exp(x),x,0,4);
2 3 4
X X X
(%08)/T/ l+x4+—4+—+—+
2 6 24
(%19) m:2;
(%09) 2
(%i10) 3%m"2;
(%010) 12
(%ill) 1/2 + 1/3 + 1/4 + 1/5 + 1/6;
29
(%011) —
20
(%112) (xty) = (x=y);
(%012) (x —y) (v +x)
(%i13) expand (%);
2 2
(%013) X —y



(%i114) solve (x"2—4xx—2=0,x);
(%014) [x =2 — sqrt(6), x = sqrt(6) + 2]

(%i15) solve (ctx*xy=z,x);

z — ¢
(%o015) X — ]
y
(%116) 2" 4%4"2;
(%016) 256
(%117) linsolve ([—1xx+—3*y+4kz=a,—2xx+—4xy+3xz=a ,4*x+3xy+3*xz=a+2] ,[x,y,z]);
6 a + 10 a + 4
(%017) [x=a+ 2, y=— ————r .7 = = ———— ]
7 7
(%i18) linsolve ([2%x+—1xy+1xz=6%a,0*x+3*xy+—1sxz=a—2,1xx+3xy+—1xz=3],
[x,y.2]);
9 a — 12 25 a — 32
(%018) [x =5 —a, y = ———— , 7 = ————————— ]
2 2

(%i19) linsolve ([l*xta*xy=7,3xx+3xy=4],[x,y]);
4 a — 21 17
(%019) [X = — s y —_— —————— ]

(%i20) functions;
(%020) []

(%i21) plot2d ([parametric, cos(t), sin(t),
[t, —%pi*2, %pi*2],[nticks, 80]])$
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